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10.1 SVM

% Support Vector Machine (SVM)
= Vladimir VapnikO| H|¢t
» o 2XE SO0|HA E)\|O1| o = X[ 2 St= 8% d4l(decision
boundary)E &= 0|l 2/ 7|(binary classifier)
X, 4

hy7h R CF 94

« O (margin)
- 28 BAL 7t 7holof Rl ota HOIE XS] AL

- MEE HlE(support vector)
- 2% BAZEH 71F 7itolo| = g5 HOoIHE



SVM

= ZXEH(hyperplane)
J
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T) = wr, T W, + - Fwmwy, b= w rtb =0
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w xr=w x,+tr
p |||
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wa*ﬁJ==meﬁ+b+ﬂﬂwH

hiz)
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hiz) = rllwll r =
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10.2 SVM©2| &t

)
I — |
% SVMQ| st 258
. -é;ll-ﬁt-llol E-I X = {(.xlrtl): (.mzrtz): (mth)} i, = {1, —1}, =1, N
« FRE floh XEHO| ptER Y
®thiz) =1 i=1- N
@ AXE #8929 Af), & 489S Y= I
"2 MEE HiF z1 0 MEE 9E Sﬂfoﬂ/ﬂﬂ |h(.’L’F)‘ =1
h(z) > 031 52 t, =1
hz) <02 &7l t,= —1
h(z) — a1
© 23 @ =% HEE g6 dsidE hl@)=1
© 1
X1

1 )
Find w. b which minimizes J(w) = =|lwll°

2
subject to th(z;) = 1

i=1, N

hizg) = w'z+b =0



Find £ which minimizes f(z)
subject to glz) =0
hiz) =0

. BanF g
Liz.a,\)=flz)+ X glz)+ahlx)

(e =0)

Find w.b which minimizes J(w) = 3w’
subject to thlz) =1, i=1,-- N
Find w.b which minimizes J(w) = +/w’
subject to 1—th(z) =0, i =1,-- N

L(w. b. a)

a; = 0

N
Sl P+ Yo, (1~ t,w Tz, +b))
i=1




SsvMme| x| Xz} EH|

& SVMO| x| X35t 25

2

Find w.b which minimizes J{w) = é w

subject to 1—thlz,) =0, i=1,-- N

i=1

= S0f Ci®F KKT(Karush-Kuhn-Tucker) =4
i Q; =0, 1= 1, ...,4_?\_.-‘

@ 1—thlz) =1-t,(w z,+b) <0, i=1, N

@ o;(1—thl(z,) =0, i=1 - N HEXH 0fFd(complementary slackness)
I _

o L o 2L,
ow ob

= Ml 8F4=(dual function)
L(a) =min,, L(w.b,0)

SL_ oL_

w O Y



svme| x| Mgt 25

& SVMO| x| X35t 25

L(w, b a) = %I|w||2+ Ya.l—t,(w z,+b) ;=0
i=1

= A e (dual function)

L(a) = ming, , L(w.b.o)

aL aL
=0 —

w0 ey 0

oL

= w
dw

» L(w, b.a)d =& 002 54
N

atz; =0 w = Eaftfa:f

oL i <
5 —Z]afthO Zaftfzo




SsvMme| x| Xz} EH|

< SVMe| x| X3} X

S
hz) =w'z+b=w-z+b= Z;]a? sz +b

" L(w.b.0)° ¥o] A4
L(w. b, o) = —||‘w||2+2a (w z+b)+1)
S N N
Lia) = 5(;(1;53:1.} JXZ]IQH ; Eatza?t?mﬂ:z b;laftﬁf;af

=1
1 &L & Ry
— _Efgzaa-jtft-f%mj +Eaf
N N
Ezaattm SB+EQ



& SVMO| x| X35t 25

2

Find w, b which minimizes J(w) = é w

subject to l—fihizxi} =0, i1=1-- N

= 2O%FE g =E 290 2 EH|(primal problem)

Find 1w.b which minimizes L (w.b. a) = %Hw”z-l- No.(1—t.(wTz+b))
i=1

subject to oy = 0, i =1, -, N

4

= w2t b7t 8l AL Xl (dual problem)

1 N N N
Find @ which maximizes L — aatta c x,+ ) o
N .
subject to Y at; =0, i=1, N HIOIE| 7 NOj| 247

 oolg] AHela R a
;=0 1=1,-- N




SsvMme| x| Xz} EH|

& SVMQ| x| X3} 2X of A
» M 28|(dual problem)l| X435t 2X| HE

— 1 N
Find ¢ which maximizes L(a) = — —E Ea'a,'t't,ﬂ:' . 3::;'_‘_ Z‘lf

N
subject to Y.af, =0, i=1, N

i=1

a?- = 0_, I — 11 e ..'.'N:—

4

Find @ which minimizes L(a@) = ZZ&TQJJ?E:? T — Eaf

?_l?_l i=1

N
subject to Zaftf —0, i=1, N

i=1

0, =0, i=1,-N

O| X4 A=l (quadratic programming) =X



svme| x| Mgt 25

< O|Xt& H| 2™ (quadratic programming)

Find @ which minimizes L(c E EC}:(} ttx; X — Yo,

[l il
r—l;r—l i=1

subject to Zaf =0, i=1 - N

& 20-‘ I:]- _:\'—

tgtlﬂ:g * ﬂ:]_ tgfg 1’2 * 3:2 fgt_l_'ﬂ:g * ﬂ:N

= l:c_H:.c — Eag—
2 i=1
= ME 39| quadratic problem solver 2t0|E2{2| 0| &
- MatlLab/Octave?2| quadprog( )
- Python2| solvers.qp( )

[ tlflﬂfl e flfgﬂfl =g v fj_f_w._'ﬂ:l * ;‘\:N_ [

_t_w,_'ilmN' ;51 t_x_"tg ;EN. ;Eg e t_\'i_\_"ﬂ:N' ;E_Nr_ i




svme| x| Mgt 25

< O|XIA H| 2™ (quadratic programming) — cont.
= MatlLab/Octave2| quadprog( )
- O|X}A A =IOl 5F A (canonical form)

Find @ which minimizes L,(a) = %a_ch +f o

subject to Aa = a and Ba=0»

= o = quadprog(H, £, A, a, B, b)

« SVMe| ¥t =H|

[ f1f1$1 . 3:1 flfgﬂ:l . ﬂ?z
fgflﬁ:g . 9:1 fgfgﬂ:z . 3:2

f'\_‘il;rN‘ ;1:1 f_'\l'fz ;UN‘ :‘UZ e

flfj_'ﬂ:-l . :L'N_ [
fgf_\_'ﬂfg * T

LT Ty




svme| x| Mgt 25

< O| X4 2™ (quadratic programming) - cont.
= MatlLab/Octave2| quadprog( )

Find @ which minimizes Zp(a)

N
subject to —a; = 0 and Ea’ftf =0,2=1, --
i=1

1
—a' Ho—

N
Z O

i=1

) Ay

Find o which minimizes L,(a) =

a Ho+f o

subject to Ao < a and Ba = b

o = quadprog(H, £, A, a, B, b)

« SVMe| ¥t =H|

[ tltlxl * ﬂ:]_ tltg a:]_ = Lo
tgtlxg - I tQtQ Lo = To

- 10 -~ 0
-1 4|0 710

1 0 0 --—1

Tt Zy s Xy TynloZy - To -

tlt_\'fr-]_ -
toln®s = Ty

INtN XN Ty

0
0

0

.‘I'-N_

z, | [z ]
Loy || L2
Tyl Ty
b= [0]



SVMO]

< MatLab/Octave?| A}2 3t 0f
- HE21(+1): (16) (1), (411)
» 222 (=1): (52), (7,6), (9,3)

T T

= YSHGHOIH X

* X=1[16; 18; 4 11; 5 2;

16

18

1411

A=150

76

19 3|

= =3 [O|Ht

1; -1; -1; -1]

* t=[1; 1;

19
/>

6; 9 3]

=

- 3
H

=
N
1

1 *

10

ol-

IS

71-

6 X O
5|-

al-

3l

2 O

1o 2 s 6 10
= H

= (X*X') .*(t*t"')

49 65 92 —21—-55—33
70 92 137 —42—94—69
—17—21—42 29 47 51
—43—55—94 47 85 81

[ 37 49 70 —17—43—27]

|~ 273369 51 81 90 |



< MatLab/Octave?| A2t 0f - cont.

« £f = -ones(6,1) 1] (=10 0 0 0 0]

-1 0—-10 0 0 0

* A = -eye(6) f= |1 4—|0 0-10 00

— -1 00 0-10 0

* a = zeros(6,1) . 00 0 0—-10
e B = t' [— 1] L0 0 0 0 0 —1)

* b = [0] B=[111-1-1-1]

= O|Xj4 A=Y ALE
* o = quadprog (H+eye(6)*0.001, £, A, a, B, b)

12r

16 0.0356]
}1181 0.0000 ok
x=I _|0.0400] I
5 2 *~ 10.0000 - —
76 0.0756 _ T
93 0.0000] MEZE HE |

coococoo




SsvMe| st& O

< SVMO| %| X3} 28| si&
= MG LC43t9| quadratic problem solver 2}0|E2{2| & 0|&
. x|x—|2} 22X ol sl ay,ay, ..., ay AHA

= KKT 29| o, (1—hlz,)) =0 =&, o, =084 hlz,) =1
" #0" z7t AEE 9
" wO| 7:”)&}

0.333
w = E‘” l 0.200 1

hiz) =w-z+b

12

(0.0356 ] N
0-0000 =Yatz -z +b
_0.0400 I =
&= 10.0000 o % o
0.0756

00000 1 o
2| o h(z,.x,) = —0.333z, +0.2z, +0.13

'_\
w oD 0o

O =] U = =

0

" b2l At
« MEE HIH StLE ((w'z,—b) =10 Z0f ALt

~0.333 TH_ B _
[0.200] 6| 01 b=0.13



» Z el ~(slack variable) &;
« ot5 HO[O|HE = StLi 2
« SVMO| Bt AHMO|M AZEHEHECHHE| QX|SHH, & =0
- 0|2[e] 8% & = [t; — h(x))|

th($) = 1_62'! 1= 1; ”';J.’V

L 1




A 22|27 =82l SVM

HE2|7} X g Glo|E{of g sVm
)

Find w,b which minimizes J(w) = %HwH2 + C'Enfg
i=1

subject to thlz;) = 1-¢, i =1, N

2BIYF

ot

AL
T

L1 5 Y o
Llwb.&af) = S lwl”+ €56+ Do, (1-th(z) &)~
' i=1 i=1

N
DBE

i=1



—~ B — = =
A £El=71 =82l sVvM
<« MPEE 2|7} E|X| 2= HI0|E{0] Ci$ SVM
» X|™S 28 - cont.
- O™ F g
1

N N N
L(Tﬂbfﬂﬁ) — 3”11?”2 + CE E—I_ E&(l_ th (mg)_ E)_ 235
' i=1 i=1 i=1

« A 2H|(dual problem)

\ 1 & X
Lla) = 12105? - 51;;?2 o ttx; + T;
N
Z a;t; = 0



10.5 H|M™ SVM

< O|O|E{Q] X}l At&(high-dimensional mapping)
= OO|EHE X3l AredotH Mg 2| 7ts

O() = (6,x2) = (e, 05)

X1,X7)

* *

10

h(xq,x,) = wix + wyx? + b

r r r r r r r
-1 0 1 2 3 4 5

2 -4 3 2
T h(xq,x) = wix1 + wox, + b

M st

H| M

| -

ot
oot



H M svm

3o E‘"OIE'IQ.I _Tl_xl--‘r’-,_-l AI‘*OI' — cont.
= XOR &X|

r’,
.
A // N
> Ea. N = 1

@’(;E} = {1'? \/§I1$2: 1'2) = (ylr Uss yg} \\’
X, V2

& DX H2o| EH|H
= X9 X{F(curse of dimensionality) =X 2
= HAE O|O|E 0] CHet YUYt} (generalization) 8 X35t 7t
- 0¥ (margin) Z|CHZE S Lzt 53 FX|
= A4 H|E 57
- '3 E2|(kernel trick) AHFE 22 S| &4



H M svm

& SVMO| x| X35t 25
» MY SVM

« HIO[E{e| A+ tHeEt

[ -

= HM™H svm

0




H M SVm
% HE EEl(kernel trick)

A4t
» DXR H3EQI 0] AlAte = Q= HYE gh=(kernel function) K A2
© K(x;,x;) = d(x;) P(x;)

* g g0 of
* K(x,y)= (x"y)?

x=[2] y=P

o (xXTy)2 = (o Fxy5)0= () 2200 y,) (x3)) ‘|‘ (x2)2)°
= [(x1)2 \/_x1x2 (xz)z][(h)z \/_J/1J/2 (J’z)z]

=P (x)  P(y)
(x1)? (r1)?
c D(x) = (V2x1x,| )= |2y,
(x5)? (72)?




H M SVM

7 &t=(kernel function)
9-|

= (polynomial kernel)

Kzpz;) = (z; - z; +1)°, p= F4AF

= RBF(radial basis function) &

K£$é¢$;' )=¢€¢ lz; — 2 |7/ (207)

= A3 EPHIE (hyperbolic tangent) &
K(z,z;) = tanh (az, - a:j,-+_3)

LR



H M svm

1=

hiz) = Zaiti x,z)+b

1



« H|ME SVM

E((E) — %[@1 iy

o ay]

H M svm

[ fit1%1 © T4

RAN:ENDN

titoZq * o

tol1&g = &1 ToloZs * T

T @y Ty TnloZpy s Ty -

tty K(x,
tQth(a:zaa:l)

vt Ky xq) tyty Ky, 1))

" O|Xi4] A =" 2to|HE{2] A+
quadprog( ), solver.qp()

¢ Uq, Ay, ..

. AN 7:||/\f
. TX}Qo| AT O

ézl

tots K(-’anﬁ?z)

hiz) = Ya

tit vy

Lol o * T | | Oo

LTy Tyl | Q]

tLivK(z.zy) |[

tQt_\'X(:r'Qaa:N))

tatvE(@yzy ||

td(x.) d(x) +b

Zatﬁ’m z) +b

=1

Tl o]
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